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THE OPEN UNIVERSITY OF SRT LANKA
DEPARTMENT OF SOCIAL STUDIES
BA DEGREE IN SOCIAL SCIENCES — LEVEL 4 &5
FINAL EXAMINATION - SEMESTER I1 - 2018/19
SSE 3106/ DSES301 - STATISTICS FOR SOCIAL SCIENCES

N

DURATION: THREE HOURS (03 HOURS)
Date: 03.08.2019 Time: 1.30 p.m. — 4.30 p.m.

Instructions:
(5= Non-programmable calculator is allowed -
» Answer five (5) questions selecting at least two questions from each part
» Each question carries equal marks: '
| Part I

1. “Statistics refers to a set of statistical procedures for organizing, summarizing and
analyzing information™. Explain this statement with an example.

2. (a) Explain the following diagram with an example.

: Population ‘
Described by Parameters \ Sample
. Described by

Statistics

(b) Provide two examples each for nominal, ordinal, and ratio data.
3. (i) Explain whento use a bar graph, histogram, and line graph with an example for each.

(i) The annual imports of a selected group of electronic suppliers are shown in the
following frequency distribution.

“

Imports (Rs. millions) and Number of Suppliers

Imports | No. of suppliers
2-5 6

5-8 _ 13

8-11 20

11-14 10

14-17 1

{a) Draw a histogram.
(b} Draw a frequency polygon.
(c) Summarize the important features of the distribution,
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4. The following table shows the number of times people in a sample group visited the
cinema in a six-month period.

One of the frequencies is missing.

Cinema Visits | Frequency | Midpoint A
0-4 120 2

5-9 24 7 3

10-14 | 12

15-19 7 17

- Midpoints are used to work out an estimate for the mean number of visits. The mean is
~ calculated to be 7.25. '
(a) Work out the missing frequency.
. (b) Calculate the standard deviation
- (c)- Interpret the result

Part 11
8, '('a) - Draw the figure (s) and represent the area (s) for the followings aﬁd then

S N (1) Fmd the area under the normal distributing curve between Z = 0 and Z=1. 54
S (11) Find the area to the right of Z = 2.11 '
o (iii) Find the area between Z = -2.00 and Z = - 1. 47 .
(iv) Find the area to the right of Z =+ 1.43 and to the left of Z = - 2.01

(b) A national achievement test is administered annually to 3rd graders. The test has a
- mean scotre of 100 and a standard deviation of 15. If John’s z-score is 1.20, what was
her score on the test? ' ‘
' Hint: z=(X-p)/o

6. (a) A bank calculates that its individual savings accounts are normally distributed with a
mean of Rs 2000 and a standard deviation of Rs. 600. If the barik takes a random
sample of 100 accounts, what is the probability that the sample mean will lie between
Rs.1,900 and Rs. 20507 '

{(b) Suppose we want to estimate the average weight of an adult male in Mountlab
County, Georgia. We draw a random sample of 1,000 men from a population of
1,000,000 men and weigh them. We find that the average man in our sample weighs

180 pounds, and the standard deviation of the sample is 30 pounds. What is the 95%
confidence interval?
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7. Explain the following concepts and give an example for each.
(i) Null and alternative hypotheses.
(i1) A type 1 error and a type 11 error
(iii) a p value and an alpha value ()
(iv} A one-tailed and a two — tailed test

8. The income distribution of the population of a certain village has a mean of Rs. 6000 with
a standard deviation of Rs. 180. Could a sample of 64 persons with a mean income of
Rs.5950 belong to this population? Test this at 5 % level of significance with using p value.

9. Write short notes on any four (04) of the following with an example for each.
(&) Point estimate and confidence Interval
(b) Standard error of the mean
(c) Bell -shaped distribution curve and its empirical rule
(d) Positively Skewed and negatively Skewed distributions
(&) Critical region and noncritical region

. **5x%Conyrights Reserved™***%*%




Standard Normal (Z) Table
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